· Crystal Lattice Energy (U0): طاقة الشبكية البلورية
The energy change when a mole of solid crystal is formed from its constituent ions in their gaseous state.
مقدار التغير بالطاقة المصاحب لتكوين مول واحد من بلورة أيونية صلبة من ايوناتها في الخالة الغازية.

تعريف أخر: 

هي الطاقة المتحررة نتيجة لترتب مول واحد من الأيونات الموجبة مع مول واحد من الأيونات السالبة في حالتها الغازية بأشكال هندسية معينة لتكوين مول واحد من بلورة أيونية في حالتها الصلبة.

M+(g)  +  X–(g)  
MX(s)              U0 = –         قيمة سالبة
How To Calculate Crystal Lattice Energy?
كيف يمكن حساب طاقة الشبكية البلورية؟
Crystal lattice energy (U0) can be calculated using Born-Lande equation:

يمكن حساب طاقة الشبكية البلورية نظريا من خلال معادلة بورن-لاندي وكالأتي:

U0 = [(A NA z+ z− e2) / (4 π ε0 r0)] [(1) – (1/n)]

· A is the Madelung constant, relating to the geometry of the crystal;
ثابت ميدلونغ وهو قيمة خاصة بكل بلورة أيونية
· NA is the Avogadro number (6.022 × 1023 mol-1) ; عدد افوكادرو
· z+ is the charge number of positive ion; شحنة الأيون الموجب
· z− is the charge number of negative ion; شحنة الأيون السالب
· e is the electronic charge, equal to 1.6022×10−19 C; قيمة شحنة الإلكترون
· ε0 is the permittivity of free space, equal to 8.854×10−12 C2 J−1 m−1;

ثابت العزل الكهربائي في الفراغ
·  r0 is the distance to closest ion;
المسافة الفاصلة بين الأيون الموجب والأيون السالب
·  n is the Born exponent, a number between 5 and 12, determined experimentally by measuring the compressibility of the solid, or derived theoretically.

أس بورن, أما إن يعطى في السؤال مباشرة أو إن يتم استنباطه نظريا وكالأتي:

	Electronic configuration of the ions in an ionic compound
	n

	2He
	5

	10Ne
	7

	18Ar or 29Cu+
	9

	36Kr or 47Ag+
	10

	54Xe or 79Au+
	12


The value of n for an ionic compound is determined by averaging the component values. 

نجري الترتيب الالكتروني لكل ايون ونقارنه بالجدول أعلاه ومن خلاله نحصل على قيمة n لكل ايون. بعدها نأخذ معدل قيمتي n للأيونين لتمثل قيمة n للمركب الأيوني. سيتم شرحها بالتفصيل إثناء المحاضرة.
EX: Use Born-Lande equation to calculate the crystal lattice energy for the formation of NaCl(s).
Madelung constant (A) =1.7476, NA= 6.022 x 1023 mol-1, 4πε0 = 1.11×10-10 C2 J-1 m-1, rNa+ = 1.02 Å, rCl- = 1.81 Å, e = 1.602×10-19 C

NaCl(s)                      Na+(g)  +  Cl-(g)
z+ = +1 (Na+) 

z− = -1 (Cl-)

11Na+ = [10Ne] ,  n = 7

17Cl- = [18Ar] , n = 9

nNacl = (7 + 9) / 2  = 8

r0 = rNa+  +  rCl-  = 1.02 Å + 1.81 Å  = 2.83 Å  =  2.83  ×  10-10 m

U0 = [(A NA z+ z− e2) / (4 π ε0 r0)] [(1) – (1/n)]
U0 = [(1.7476) (6.022 x 1023 mol-1) (+1) (-1) (1.602×10-19 C)2 / (1.11×10-10 C2 J-1 m-1) (2.83  ×  10-10 m)] [(1) – (1/8)]
U0 = – 752327 J. mol-1

(mol-1 . C2) / (C2 J-1 m-1 . m)  = J. mol-1
Home work: 
Use Born-Lande equation to calculate the crystal lattice energy for the formation of MnO2.

Madelung constant (A) = 2.408 ,  NA= 6.022 x 1023 mol-1, e =1.602×10-19 C , r0 = 189 pm, ε= 8.854×10–12 C2m-1J-1.
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